SF5 E£E . 3
o R 28 A =
EREEAM g SM5ETHSH
BOELAK—tOBES | = BRELER  asw | R
B1E KOHE el ORNOINE),
5 HEORE (GEX) ey 1L IR ] 5 B LA
HRLE p62~p65 s e e 2 EE (%
FRES SRR ]
BERL K NI E R RDBET TR, BHEE X6 AL EETE 20 ERT 55 0TT, RHRAHREE) B TOREAIZEREE LT,
CLoe) [#07% p.62] CLor) [#07 #p.64]
— \ ROBZE Z 78X\,
1) 2FET0MTISOMBEXFE U/, W AREZ KDL I W,
wx = ma |=[  ®m | ckowscencs, i 980m " *
980 +-70=—-— 70 =14 (%) X
R Ity A ==
BE el aeryicgaEg | 0 = ©) BE 57 ki CLEEI40DBEI U % Ure, B8 L I8 % RID7Z T o
HX GHE) = 2 ) -
B | L B ) IS G T 57 (15 | =57x (145 ) =57x ot
- =19%5=95(km)
1= 60 % 14=] 6 | | ¢
L J 6] 18A00] (%R} #p.64]
& BT B R AT B b RD WZHTIEEIEEBZLXY, EFL, YOLORHEZ L TE
LM IAND LT, REREIINL DL,
C¥0le) [ %% #p.63] 1) B#E5Sm=%3%| 300 |m
ROBEX E RO X, 19313 60 F 72 DT,

HHFERRL, 420kmZ 1400 TEY £9, ZDOFBIROREE KD 4
i‘b\o

(1)

100 10 5

——=— I bR N

50 — 6 3 RREIZR DT,
) 3

42073242())(3:84)(3:252(km/h)

R 252 km

1HFfE 4093 1%

o T,

2) AMISETHEUAZIHNBHAIZEL £
DEE#ENL, 1860mTd ., ZDFDHEX
1860+ 6=2310 (m /%)
£-T, BE30m

TOMMMNY E Uk, AR & BRSO
(&) 2RkdDZIW,

[8520)]
ROEI ZRKDIR I,
HELE T, 4200mDiEEE* 200 TCEY E L2, ZOLXDHEEDEY
ERDR IV,

_on_ 4200 420
4200+ 20= 75> === =210

£-T, %210 m

[# %% p.63~p.64]

(733%F)

m/45)

(8500
RDORPNTEZ IR I,
1) AELBEODEBEII3OMTY, AZNEMTAR—IV&2&KITLL X, AE
0)?’“7‘7Zrk—nﬂéBﬁ7b> [TEX S £ T b\b\ofbﬂ%‘ﬁaﬁ’%ﬁ&)&%m

[#F Ep.64]

— —— = 'J‘
= %W\aﬂfﬁiw
2) ﬁﬁﬁOkmf‘Zﬂ%F%Oﬁj\*@@j LEU~E, BEILU 2RO XV,
30
60><<2+W> 60 x 2+ - E>-
—mxi—mXS
o 2 (g 281300 =25 TH 5 1 5
—30% 5= 150 (km) Kb 5 BRI

60x 2.5=150 (km) & >TH K\,

5% 60=300 (m/7)

E->T, 4% 300m
2) M&ESm=FF®E| 18 |km
1RRIE 60 4, 14012 60F72H 5, 1BERTIL 60X 60=3600 FHTH 3,
kT, 5x3600=18000(m) =18 (km)
Wz 1, BFE 18km
3) EE3km=%3%| 50 |m
1BRI% 60 T, 3(km)=3000(m) TdH 355
3000+ 60 =50 (m /4})
£-T, 2 50m
(4) KpE126km =) 35 m
113 604, 19136077255, 1EERTIZ 60X 60=3600 ¥ T&H 5,
126 (km) = 126000 (m)
T, 126000=3600=-200 _ 210 _ 70 _ o5 0 )
36 6 2
2FY, ME35m
¢ Xole) [ %} £ p.64~p.65]
RD WCHTIFEZIREZZIRIV, EFEL, DL RHERZLTE
BENENSND LD, REREIINLZ L,
1) HES4Om=FFE| 14 m
g0 340 _
840+ 60= 7~ =14(m)
2) 2ES00m=HE| 30 km
_ 30000
500 60+ 1000=-7777" = 30 km)
(3) MFE240km =43#E| 4 |km
240+ 60 = 4(km)
4) BEFE72km=E| 20 m
185 =36000 T b 2 1 5
, 72 122 o
72+ 3600=grr = o5 = 7o =0.02(km) =20(m)




